Puissances de Dix (G)

08 + 7 = 360 = 4 =
08 + 70 = 360 = 40 =
08 + 700 = 360 = 400 =
98 + 7 000 = 360 =+ 4 000 =
98 + 70000 = 360 + 40000 =
296 + 4 = 672 + 7 =
296 + 40 = 672 + 70 =
296 + 400 = 672 = 700 =
296 + 4 000 = 672 = 7 000 =
296 + 40000 = 672 + 70000 =
68 + = 08 + =
68 + 40 = 98 + 20 =
68 + 400 = 08 + 200 =
68 + 4 000 = 08 + 2 000 =
68 + 40000 = 98 + 20000 =
245 + = 114 + =
245 =+ 50 = 114 =+ 30 =
245 =+ 500 = 114 =+ 300 =
245 + 5000 = 114 + 3000 =
245 + 50000 = 114 + 30000 =
744 + = 4 964 + 2 =
744 + 80 = 4 964 + 20 =
744 + 800 = 4 964 + 200 =
744 + 8 000 = 4 964 + 2000 =
744 = 80000 = 4964 + 20000 =
DEFI
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